%) We Shine Academy”

guiding you to get through

A man buys 10 articles for Rs. 8 and sells them at the rate of Rs. 1.25 per article.
His gain is

a) 20% b) 50% 19-;- % d) ssi %

@ walsHsr 10 ysemissT m.8-H@ suthiml oibenm 15.1.25 eisie 10
Ldleaitisbenst elmniT. el Hsnil suluLh

a) 20% b) 50% 19-;-% d) sai %

How many triangles are there in the figure below?

e

a)5s b)6 c)8 d) 10
BSTINID UL HH0 6155080, (IPHBSTHIST 2 silsmen’

/\
"~

N,

a)5 - c)8 d) 10

Ifa+b+c=13anda’ +b’ +¢’ =69, then find ab + bc + ca

a)-50 b) 50 c) 69 d) 75
a+b+c=13wmpd a’+b’+c’=69 awfisu ab +bc + ca smei
a)-50 b) 50 c) 69 d) 75

If A:B=2:5 and B:C=4:1, then find A:B:C

a)2:9:1 b) 4:9:2 c) 8:20:5 d) 4:18:3
A:B=2:5 wignb B:C=4:1 smillsh A:B:C steiriz)

a)2:9:1 b) 4:9:2 c) 8:20:5 d) 4:18:3

5. If 8 workers can complete a work in 24 days, then 24 workers can complete the
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same work in
a) 8 days b) 16 days c) 12 days d) 24 days
8 Buit @ Goausneuenil 24 BT &6Ts0 (PpHHTa ABH Gousnsvenul 24 Guir
HTLSHaMs0 (LIl ILIT
a) 8 priseir b) 16 mm_msir c) 12 ml_méir d) 24 mmeir

A and B together can do a piece of work in 12 days but A alone can do it 20 days.
How many days would B alone take to do the same work?

a) 24 days b) 30 days c) 36 days d) 28 days

@m Cousmsvenl A wmmub B sydul Gimeumio Gaihs 12 mmlisst (ol A

W (b sisuGrusneveml Hsmwns 20 Brlsasd (pgluT, esnsy B ol (Hib
HONLITE D6UCoUMeusDl 6THhHHM BTl &Helle0 (LpglLiT?

a) 24 mT_&Harfisy b) 30 pm_seflsd €) 36 BI_&eMed d) 28 mir” &stils0

Which of the following is not a prime number? _

a) 241 b) 337 c) 391 d)y571,
SDSBEOILUDBIYSTT 6151 LST 66 Disosw? i :
a) 241 b) 337 d) 571

Simplify% of (5;1,:43]

-7
d) 5

=7
d) —

a) 14 T b) 12 c)13 d) 15
1%+2%37++k’=6084 aafiso K6t waliny wingi?
a) 14 b) 12 c)13 d) 15

The L.C.M. of 22, 54, 108, 135, and 198 is

a) 330 b) 1980 c) 5940 d) 11880

&G Lt [Heisn siensaien WolLnw simwms. 22, 54,108, 135, wipni
198.

a) 330 b) 1980 c) 5940 d) 11880

The sum of a number and its reciprocal is Gé—. Find the numbers
1 1 1
a) 5,; b) 6,-6 c) 6,—6 1 d) 5,-;
@I 6lell LOMIID DidHedl Hensvafulle FnlhHew Gg. aafley  Sisubleusmiimel Wimanan?
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a) 5, b) 6,-6 )67 d) 5,

The principal that will yield a compound interest of Rs.1632 in 2 years at 4% rate
of interest per annum is

a) Rs.20,000 b) Rs.25,000 c) Rs.30,000 d) Rs.35,000

4% ssmi el lg alhly 2 syahsensy 1.1632 sl (§ sl lp HHID F0
S5 BosEs0

a) Rs.20,000 b) Rs.25,000 c) Rs.30,000 d) Rs.35,000

The value of 48+ 12 X (2 ofos> of-?i) is
] 834 3
a) 15 b) 5; c)3 d)12
48+ 12 X (2 B+ @svs) i iy
a) 1% b) 5% c)3 d) 12

If the coefficient of variation of a collection of data is 18 and its standard
deviation is 3.42 then find the'mean.

a)19 b) 36 c)61.56 d) 34.2

D LeTsl silurssien wipump (s Osag 18 whpid S slleubsn 342 saiis
2iH6 Fnl BF FyTinuld STeNH. :

a)19 b) 36 c) 61.56 d) 34.2

What percent of 3% in 5% 7
a) 70% b)50% c) 40% d) 60%
5% in 3% ellgdbsi(h _slsic?
a)70% O b) 50% c) 40% d) 60%

The simple interest on a sum of money is % of the principal. Find the rate
percent and time if both are numerically equal.

a) 8%%, S%Vrs. b) 7%, 7 yrs. c) 7% %, ';'21 yrs. d) 8%, 8yrs.
@0 GEICL Gsransulsst Helau uTensl SIFs0lsT % L BGHEE FOD
QUL IgeiHpD, sumL P aeml &N FowTs BindHEGLEurs a1y
AlHHMBHUND DML SHNHUID  HT60.

a) 8-%, 8> aupL e b) 7%, 7 sumL s

€) 75 %, 7 QupLHs d) 8%, 8 qumL mmeT

17. A certain sum of money amounts to Rs.8,880 in 6 yearsand Rs.7,920in 4 years
respectively. Find the principal.
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a) Rs.12,000 b) Rs.6,880 c) Rs.6,000 d) Rs.5,780
R0 GUUULL =ygsomms 6 osiihsstsy 05.8.880 sysad 4 siemihEsiiso
fh.7,920 2ysob WILISIMESL. sjelish 2)genevd SHiI6aolH:

a) m.12,000 b) m.5,880 c) m.6,000 d) (5.5,780

A number when increased by 12% gives 224. What is the number?

a) 248 b) 212 c) 236 d) 200

@ eleuenel 12% il (BIGUTal 224 S G6HHTe0 ihdH Glaneneml  HTa05H.
a) 248 b) 212 c) 236 d) 200

20% of (A + B) =50% (A - B). Find the ratio of A and B.

a)7:3 b) 3:7 c)3:8 d) 8:3
20% of (A+ B) =50% (A —B) araniist A wimip B —uilen ei&lsin Srenis.
a)7:3 b) 3:7 c)3:8 d) 8:3

In a village, 15% are children, 40% are woman. There are 900 peop?e in the villege
what is the ratio men: women: children

a)9:7:4 b) 9:8:3 c)7:9:4 d) 8:9:3

RO HTosHs 15% GLhmsadr, 40% Gluewsqr, @lfmnsssn Giorssin 900
LG E&6T 2GS §1660 SYe0Is6N: GGG @HRBHMSSs 6150 6lsHHMm S5
BTN S.

a)9:7:4 b) 9:8:3 c)7:9:4 d) 8:9:3

15% of the total humber of biscuits in a bottle is 30. The total number of biscuits
is

a) 100 "~ b) 150 c) 200 d) 300

em urlysisn o arsm Gurdss detst Heatlsr aemmibmsuisy 15%
UlebalBHst 30 stailst Uabsl Baatsn Glorss sementsemna

a) 1000 b) 150 c) 200 d) 300

Find the LCM of 12(x-1)" and 15(x-1)(x+2)".

a) 60(x-1)*(x+2)*  b) 60(x-1) c) 3(x1) d) 3(x-1)*(x+2)
12(x-1)" wimid 15(x-1)(x+2)° &r BF.0 Brems.

a) 60(x-1)*(x+2)>  b) 60(x-1) c) 3(x-1) d) 3(x-1)*(x+2)’

Simplify 5V3+18v3-2v/3

a) 15V3 b) 21V3 c) 25V3 d) 11V3
OGS, 5V3+18v3-2v/3

a) 15V3 b) 21V3 c) 25V3 d) 11V3

24,  Sum of three consecutive integers is 45. Find the integers.
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a) 15,16, 17 b) 14, 15, 16 c) 13, 14,15 d) 16, 17, 18
SbHHbSHSH AUBD APHIm (WIDESaTN FubHed 45 6Tl0 JiHH (LIPHBHMETH
& Taml 5.

a) 15, 16,17 b) 14, 15, 16 c) 13, 14,15 d) 16, 17, 18

If the standard deviation of a set of data is 1.6, then the variance is

a)0.4 b) 2.56 c)1.96 d) 0.04

@M Ueel allsurhsen Sl alludsln 1.6 aalsh 56T alsubsd aifds FFmaf
(LysUMLIG)

a)o.4 b) 2.56 c)1.96 d) 0.04

The area of a sector of a circle of radius 21 cm is 231 cm®. Find its central angle.
a) 45 b) 30 c) 60 d) 120

ot 21 GEaf whpne uphuerey 231 QF.f Qsrem Beien 'L Camsmiii@euisr
MIDLIGCEH TN HNSH HBIaID. _

a) 45 b) 30 c) 60 d) 120

13 13
4 & share B s share

A sum of Rs. 1300 is divided between A, B, C and D, such that

I B'sshare - C's share B
C sshare

_ =2 Then A’s share is
sshare 3 b
a) Rs. 140 b) Rs. 160 €)Rs.240 d) 320
th. 1,300 ereiip Glprensenwt A, B, €D STGIM HT6UaU[HES @ Eem_Bui

.. . R _A'sshar B’ sshar. C' sshare 2 ] )
Bpsseisunpl UifsSULBEMEIT ; == = o 2T oS Asllar L@ /B
wiv e Ssnare

- C'sshare - D'sshare 3
Wiledr Likig = B Wlighr LimiE, J€ Weir wiiig= Cwiler umig / D uls ubi@,
a) 1. 140 " b) 5. 160 ¢) t5.240 o) 320

Whighi o‘f':the‘folllowing fraction are the largest?/

8 16 40 80
Lisisumi Lisiienmidsaisy sigl WalGLfus?
a) b) = )

8 16

31 63
— d) —
40 ] 80

The L.C.M of two numbers is 12 times their H.C.F .The sum of H.C.F and L.C.M is
403.if one number is 93, find the other

a) 120 b) 124 c) 128 d) 134

Eim aemetis I8FF M WHIIL Deusim eremisemen Wb &0 12
WLBSTEW. Blm eemissis Wadm whing wimbn Bhbum waslinilsn

ol (ha0sTens 403, @ st 93 aeilcd WHGMTE e 6TETeN T

a) 120 b) 124 c) 128 d) 134

31. The price of a house is decreased from rupees fifteen lakhs to rupees twelve
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lakhs. Find the percentage of decrease.

a) 20% b) 30% c) 10% d) 40%

@@ el lgell elsnsu, 15 Eeol Fb mmuTUisd SmbE, 12 sVl FD mHUTLTESES
@MMHBHEH 6160160 GHENMHTH TFHEIDHID HTG.

a) 20% b) 30% c) 10% d) 40%

1.6 expressed as a fraction is _
a) b) = ¢)2 d) =
10 9 3 8

1.6 si@tgml samLaaTabyeT abhs Uaesbags Fnn?

16 16 5 4
a) 1o b) 3 <)3 d) 3

The measures of the angles of a triangle are in the ratio 5: 4 : 3. find the angles of
the triangle \

a) 65° 60° and 55° b) 85°, 50° and 45° c¢) 75°, 70° and 35° d) 75°,60° and 45°
B (WWHBETIMSSST apsim Camrenmimstien al@Smmimer 5 © 4 o 3 deilsn Basmao
DTS EN6TIS ST D. &

a) 65°, 60° and 55° b) 85°,50*and 45° c¢)75°, 70° and 35° d)75°, 60° and 45°

A fruit seller bought 8 boxes of grapes at Rs. 250 each. One box was damaged. He
sold the remaining boxes at Rs. 190 each. Find the profit / loss percentage.

a) profit 130% b) profit 10.83%

c) loss 130% d)Joss 10.83%

@@ wp slwrurd 8 Gulig,  @iFFlmasmen @@ Gy @150 g

RITBIBISTTT. SiBleu@Mh Gty Him end siupsl alBaSpa. (Bsupsitar

QU gHemeT @ Litag 190 aaim slleneude ABaEmrT. Bleoru/mplL FEaish
ST, : :

a) sumu 130%,. b) somub 10.83%

c) pagLiDd 130% d) BegLib 10.83%

63% of 3?;*- is

a)2.25 b) 2.40 c) 2.50 d) 2.75
3-6163%g Ana

a)2.25 b) 2.40 ¢) 2.50 d) 2.75

The radius of a circle is increased by 1%. What is the increase percent in its area?
a) 1% b) 2% c)1.1% d) 2.01%

R AL &HHD UiDb 1% SFslesina eeled SiBH UTHL 28 &TaEn
FHAHLD eleisusTR|?

a) 1% b) 2% c)1.1% d) 2.01%
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If 3 persons weave 168 shawls in 14 days, how many shawls will 8 persons weave
in 5 days?

a) 90 b) 105 c) 126 d) 160

3 Buf, 168 GusvrenL sensen 14 Bm sefisy GQBUISsTBenT. stefisu 8 Guir, 3
HILHeMle0 sihHemen BsoTenlsenst GlHueT?

a) 90 b) 105 c) 126 d) 160

If 2= /32 then find value of x.

a)s b) 3 c)3/5 d) 5/3
2*= V32 sraifisd x-6i WLy Sem

a)5 b) 3 c)3/5 d) 5/3

Find the perimeter of a sector whose radius and central angle are 18 cm and 210°
respectively.

a)120cm b) 110 cm €) 102 cm d) 108¢em

Sirib 18 Geif whmne soiwd BGsremd 2107 aens Osmswi st  Gosmsmi

L@ S HBmeTsnsl S & TENE.

a) 120 Q.16 b) 110 Giz.16 ¢) 102 Gzt d) 108 Gz .18

If the volume of the solid sphere 7241%{__cu_bic ¢m, find its radius.
a)13 cm b) 10 cm cjdlem d)12cm
D@ Hewin CHEISMHHIA S DIFTEY 7?41% & GlF 18 saa BT BTHMS

&0 5.

a) 13 Gg.f b)10 Gl 16 c) 11 GF.8 d) 12 GiF.8

s | 1 1 1

Ji—vE B—V7 * J7—6 G5 * Voi—4

a) O BN b)% )1 d) 5
1 . 1 " 1 = 1 =" 1

VOB VBT V7T-V6 V65 VE-/4

a)0 b) = c)1 d) 5

Find the yalue of

LOGIIL]  SHT6u0l

A cone, a hemisphere and a cylinder stand on equal bases and have the same
height. Then the ratio of their volumes is

a)2:3:4 b) 1:2:3 c) 3:4:5 d) 1:2:4

FI0 DQUUITELD W0MBID F0 2 WyD GersniL Fioy, myHEaTenD wmmnup
9 memeTl SYBILsUMIIET el DeTeASTAT NEIHID  GISTLIH]

a)2:3:4 b)1:2:3 c) 3:4:5 d) 1:2:4

43. Afiverupee coin and a ten rupee coin are place such that they touch each other.
Sum of their areas is 117 m mm? and distance between their centres is 15 mm
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then radii of both coins are respectively.

a)6 mm,9 mm b)4 mm, 8 mm c)9mm,12mm  d) 8mm,5mm
@0 MBS MUTUI BTSWILIIPID USH&I (BUTUl HTHOULIIPWD aeiTsnnalLmsirm
O@sThBEmrHEUTsh ensudbsULL (Heismar, Simnisr LFlLusTsySsTsn sahaso 117 m
mm’ st SnhiaT mWLBSETGE Gl L Srph 15 mm aera)b
Bmiisr oEsilm BrerUREsTa DTRIEEAT (1psmmG.L

a)6 mm, 9 mm b) 4 mm, 8 mm c)9 mm, 12 mm d) 8 mm, 5mm

The excess of pressure inside two soap bubbles of diameters in the ratio 2:1 is
a)1:2 b) 1:4 c)2:1 d) 4:1

2:1 a16f3 H@adled el Lo 2 anLwl @rswih GFriyds @G setiar Wams
SpHBHDI6N ol HD

a)l:2 b) 1:4 c)2:1 d) 4:1

At the rate of compound interest, a sum of money triples in two years. Then in

how many years it will become 27 times? N
a) 4 years b) 6 years c) 8 years d) 9years
gal(h aully GumD om CEHTmE STaih sumhl &b esim) 1oL his1as|na.

a) 4 aupLAISET b) 6 au(pL ms@ai
C) 8 Qu(HLEiHET d) 9 RumLBim e

Divya secured 46 marks out of 50/in Tamil, 27 marks out of 30 in English, 36
marks out of 40 in Maths and.54/marks out of 60 in Science. In which subject she
get more marks?

a) Tamil “b) English c) Maths d) Science

gl e ﬁl’)é—:’.@ — 46 w liGusiaeme, aymdEass 065 27
wHLGUsSIS @, sonbssh 4066 36 wHIGUmSEHD, SNl T &as
6065 3 waHllGusTEEmD CLmBTT aaflst. e shHH UTLHH 2HS
waLGusm  Glumm.

a) sl b) ey bihisolD C) SHomlhE d) ofniuwsh

Find the LCM of the following x* + v*, (' = y?) , x* + ¥y’ +

a)x3+y3 b) x® -y* c)x -y’ d) x° +y°
Ulsisumensmaumnien 8.0uTw. sreams. x° + 3, (3 — ¥3), x3y? + p*
a)x3 4+ y° b) x® — y® c)x?— y3 d) x® + y°

The HCF 0f 0.90, 13.5and 15is

a)0.3 b) 0.9 c) 0.5 d) 0.15
0.90, 13.5 wmmno 1561 B.Gume. wra?

a)0.3 b) 0.9 c)0.5 d) 0.15
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Find the HCF (or) GCD of the following : (X’ = x> +x—1), (x* - 1)

a) (x-1)(x - 1) b) (x+1)(x* 1) ) (x=1)(x*+1)  d) (x+1)(x +1)
esumenauinlel B6UT.aL ateis. (x3- x2 + x— 1), @* = 1)

a) (x— 1) (x2 - 1) b) (x + 1) (x — 1)

e (x— 1) (2 + 1) d) (x+ 1) (¥2— 1)

A brick measures 20 cm x 10 ¢cm x 7.5 cm. How many bricks will be required for a
wall20m x 2 mx 0.75 m?

a) 10,000 b) 15,000 c) 20,000 d) 25,000

@0 Gemselsit samey 20 GEwl x 10 Geif. 7.5 Gsab. 20 1B8x2 18%0.75 1f
STTeT FauT & (Hausme ahHmen bFmsmast GHmaiufGn?]

a) 10, 000 b) 15, 000 c) 20,000 d) 25,000

If V3 =1.732 and V2 = 1.414, then the value of ﬁi & is %
a) 0.064 b) 0.308 ¢) 0.318 d) 2:146
V3 =1.732 ubmi V2 = 1.414 560 @_i — a1 Wy ‘
a) 0.064 b) 0.308 c)0.318 d) 2.146

A student multiplied a number by % instead of-g What is the percentage of error

in the calculation? ;
a) 34% b) 44% ' c) 54% d) 64%

6D  LDTAOIT6MEN &) (5T AHIT RN -3-6:3 Grl_1@5@m}§,m@[_.l LIS RITH E-m

G Eaell L. sl Dibss sansdligs FHaisi e wirs?
a)34% ) b) 44% d) 64%

Find the value of ( %)'2"3
=1

1
a)36 b)-36 d) =

Lz e ald
(216) 8 WAL HTEmI.

1 =]
a) 36 b)-36 d) =

Find the 8" term of the sequence whose general term is 2n"=3n+1

a) 105 b) 110 c) 115 d) 120

26 Gs1LT afmauiss GuTa 2 miy 2n°—3n+ 1seist § b 2 mil
(1601 5.

a) 105 b) 110 c) 115 d) 120
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If a®+ b’ = 117 and ab = 54 find the value of =
a)b6 b) 4 c)5 d) 2
a’ + b’ =117 aiails ab =54 syma)n BlHH@:HBLITE E & 1AL

a)6 b) 4 c)5 d) 2

The Simple interest on a certain sum for 3 years at 14% per annum is Rs.235.20.
The sumis

a) Rs.480 b) Rs.560 ¢) Rs.650 d) Rs.720

am Oatmallss sl enw 3 sumiGeendd @m.235.20 Cuoeud o'y eafHb
14% sratlioh &6IETenSUIN WS TSI

a) 15.480 b) .560 c) 5,650 d) ¢5.720

Find the compound interest on Rs.50,000 at 16% per annum for 2 years
compounded continuously/ annually.

a) Rs.17,280 b) Rs.16,280 c) Rs.15,280 d)-Rs:14,280
5.50.000 FanbE; 16% sy sissdBe 2 oummbsatan @Emiban g ssmar?
a) 1,5.17,280 b) 1m5.16,280 c) 515,280 d) m.14,280

The numbers of Prime factors in 27 x 3°* x 5%
a)3 b) 1107 c] 1110 d) 1272
2 %3P % 577 g umm snyaniseieT GTenTandms

a)3 b) 1107 4 c) 1110 d) 1272

The approximate standard.deviation of first 10 natural numbers is

a) 2.87 b) 2:97 c)2.67 d) 2.77
upmey 10 @ ey stevirasstian B allevdmabBHan GCHTEmL 10S0 asisl
a)2.87 b) 2.97 c) 2.67 d) 2.77

Curved Surface area of Frustum of a cone is

a) 2r” h sq. units b) 2 wh sq. units

c) mrl sq. units d) 7T (R + r)I sq. units
@ b6l BlenL &S 5860 sUeMSTTUTLIL] STaiLI]

a) 2’ h & oso@®a b) 2 mh . 2ieuE sl

c) mrl 7. sieuEssi d)m (R+r)l & seo@®ssi

. 5 -5 =2
How many numbers in the sequences -1, =g

a) 26 numbers b) 27 numbers €) 28 numbers d) 29 numbers
-5 —2 _
=1, = == %ﬂﬁ(}lﬂ] GipmTT sufisngullst 2 sisT 2 MILILISSTT S 61050 HmS

wima?
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a)262 mwmsit  b)272 _miiyser ) 282 miwysmst d) 29 2w se

3 % X 23—; = 10 then the values of x and y respectively, would be

a)3, 4 b)5,7 c)4,3 d)4,4
3 gx 215’ =10 sraflst X,y &1 wEeIL HaHLiL.

a)3, 4 b)5,7 c)4,3 d) 4,4

The sum of two numbers is 40 and their difference is 4. Then the ratio of the two
numbers is

a)i1:9 b)11:18 c)21:19 d)22:9

@pewinhy eTenTBEmET Fal lgsmTst SenLluml 40 SHFHTeL SlenL gl 4 DHS
Elyemtp aaBEHBGIE Blenu’ L allElsLorasl

a)ll:9 b)11:18 c)21:19 d)22:9

If the length, breadth the height of a rectangular box are 90 cm, 50.cm and 100
cm respectively, then its volume will be ‘

a) 0.45 m’ b) 0.45m> c) 4500 cm’ d) 20 cm’
Gesususll G puildr Fer, @, 2 umsst WwoBtw, 96 OF.1f, 50 GF.f
whHnnh 100 G if asfish UG BENETIE-60 LOGEN] SThilLig].

a)0.45m’ b) 0.45 m> c) 4500 e’ d) 20 cm?®

If 12% of an amount is Rs.1080, then the'amountis

a) Rs.9000 b) Rs!8000 ' c) Rs.7000 d) Rs.6000
@G Germauisi 12% emEust . 1080 sTeisy DHDETMHEMLE SHTEHIS.
a) Rs.9000 b) Rs.8000 c) Rs.7000 d) Rs.6000

The volume of @ solid right circular cone is 4928 cu.cm. If its height is 24 cm then
find the radius of the cone (Use m = %)

a)49 cm b) 28 cm c)24 cm d)14cm

@M Heoo GBI LS Fmibllsr Hen jsne) 4928 HOF. DiFenn 2 wiyb 24
Ga.1f sraish Fablilen b sres. Bhie(Use = ,g?_z)

a) 49 Gg.18 b) 28 Qg 1 c) 24 Qg8 d) 14 G#.18

What is true for the statements?

A) The degree of the polynomial is the highest (non-negative integer) power of
the variable involved in the term

B) The G.C.D of co-prime factorsis 1

C) The LCM of ab, bc, ca is abc

D) 1 is the prime number
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a)A, B, Conly b)A, B, D only c) B,C, D only d) All
LIsIpLD FnBmiseey s1& FTWLTsIS7

A. e0p UsLemlLg Gamieneuuiled LIQUITEINSL. DiHeil 2 T jseilsh Denihd
wmiluisir WsLGLITL @eomaubm (LPIpDHHET  sT6o

B. =zniy usr angsmissmen Woluma 1 sy@ib.

C. ab, bc, ca samm Gamamaniien (5.Glmin abe =su@ib.

D. 1| siarsl UST alemr

a)A, B, Col (Bib b) A, B, D iot_({1b ¢) B, C, D wi(Hib d) aimanHHID

The Lateral Surface area and Total Surface area of the cube having side 24 cm are
respectively.

a) 3204 cm?, 4365 cm” b) 4302 cm’, 6534 cm’

c) 2304 cm?, 3456 cm’ d) 2340 cm’, 5634 cm’

LES eTe) 24 Gaif 2 L om SEFHISHST uBLUTi eHBID Glord sl
gt aTeiiiig (1IpsmmGiL

a) 3204 G, 4365 Gl 16’ b) 4302 G&.68”, 6534 Gig.1f°

c) 2304 Gz, 3456 Q&.18° d) 2340 Gz1?, 5634 Q.15

A alone can do a certain j\o_bfi'n- 25 days which B alone can do in 20 days. A started
the work and was joined by B after 10 days. The work lasted for:

a)12 i days b) 14% days c)15.days d) 6§days
R0 GHOULL Gaismevenl A 25 mIemdb@sn (Wweliumm. Gusb B meliuns
2b5 Barmevenit 20 BTibalso @RHILTT. A Cousnsusnil GleTLmid 10 mrsisei

HIfhHH B GrralmnT @afsy HHd Gaisney (DIGQUID BT &6

a) 12 > praair (b) 145 a6 c) 15 Bt a6 d) 6 = Br_set

Insertthe missing number

5, 17,14,26, 23, 35, 32,

a)64 b) 54 c)44 d) 34
(B L ATEMIGNGIN  SSIT600IS.

5,17, 14, 26, 23, 35, 32,

a) 64 b) 54 c)44 d) 34

Mr. Rams monthly income is Rs.24,000. He spent his salary in following ways.
What percentage he spent on more than saving food?
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W Dress

= Food

w Education
W Savings

& Others

m Rent

= Fuels

W Entertainment

a) 16% b) 6.25% c) 7% : cfiaﬁ 4
Hlm. FILe WTEH eHLOTEID @,M,OOO -GDLLL dmrsn@ s GFsuall(haimm.

et GaiiienU S igsuth Lﬂﬁﬁg&&ﬁfﬁ 61gh & B HBID
GiFsvel (& mT? %

Eo spl

CER Y

o ®s06H

m GF16

" ichpa!

B TSNS

" anfiGlarmair

= Gurwmbonsg

a) 16% b) 6.25% c) 7% d) 8%

The HCF of 108, 360, 408 js

a)a b) 8 c)12 d) 16

108, 360 whmmnb 408 sy@lul eemiseten IGLmM GUTH G 6IeW 6TLS
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a)4 b) 8 c)12 d) 16

The LCM of two numbers is 2079 then HCF is 27. If the 1°" number 189, then the
2" number is

a) 179 b) 197 c) 297 d) 279

@ipemy, eaermaiien Wiy Gurz iy aenr 2079 BLGLm Gumgl su stem 27.
SRBe0 (pHeu sTeoor 189 eTmlied 26U aTeoor  WITHI?

a) 179 b) 197 c) 297 d) 279

At what rate percent compound interest per annum will Rs.640 amount to
Rs.774.40 in 2 years

a) 5% b) 6% c) 7% d) 10%

SeiH sl (heully (penmpuiist 2 syeiihoeist DiF6a0 ¢h.640 Siegml ¢5.774.40
S SImLEHl GubmTey, e el ly olnid aerer?

a)5% b) 6% c) 7% d) 10%

In a circular path, the radii of 2 concentric circles are 56 m and 49 m. Find the
area of the circular path.

a) 3210 m” b) 2310 m* c)3120m” d) 2130 m’

@0 alLhurensulsn Blm Gurgsnow i LEma b 56 18 wbob 49 f
sTonley eul L (1 LmenGUlledl UJULE STomis.

a) 3210 8? b) 2310182 €)3120 187 d) 213087

A play ground 60 m x 40 m isextended on all sides by 3 m. What is the extended
area

a) 366 m° b) 666 m* c) 636 m* d) 638 m’

60 1ff x 40 i @yenayeiter allnamUn_(f MDHTHSHE DMMHHIT LHERIGEWD 3
f aifisyiupssiiuGangs — alfeauBsaiul L ugsulsr LliLee] sreren?

a) 3661 b) 666 15 c) 636 18° d) 638 1°

letA=1"+2°+3*+4°+57and B=17+2?+ 3"+ 47+ 5°. The value of A—B is
a) 55 b) 170 c) 225 d) 280

The value of logyy 250 + 1081y 8 — 1081y 2 is
a) 250 b) 8 c)3 d) 2

Which of the following relation defined on a set A= {1, 2, 3) is not transitive?
a)R={(1, 1)} b R=1{(1, 2), (2, 2)}
c)R={(1,2),(2,3),(1,3),(2,1)} dJR={(1,2),(23),(1,3)}

81. |Ifa=2i-j+k,b=i+2j-3kandc=37+bj+5 k are coplanar, then the value of
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b) 4 c)-7 d)7

Let X=1{a, b, c} and Y = {0, 1}. Then the number of distinct functions from the set
Atothe setBis
a)o9 b)8 c)3 d) 2

The standard deviation 0f9,9,9,9 is
a)o b) 3 c)9 d) 81

If the Geometric mean of x, 5, 25 is 5, then the possible value of x is
a) 25 b) 20 c)5 d) 1

What is the probability that a leap year selected at random will contain 53
Fridays? _
a)0 b) > )= d) 1

The relationship between mean, median and mode is
a) mode = 3 median — 2 mean b) mode = 3.mean—2 mode
€) mode = median — 2 mean d) mode =mean — 2 mode

The median of the following data s data ; 4100, 4150, 6080, 7120, 5200, 6160,
7400
a) 5200 b) 6080 c) 7120 d) 7400

A man sellsanarticle at a profit of 25%. If the cost price of an article is 2000, then
the selling price is
a) 500, b) 1500 c) 2250 d) 2500

The pie chart given below shows the expenditure in bringing out a book by a
publisher. What is the central angle showing the miscellaneous expenditure?
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= Printing

m Paper

= Miscellaneous
H royalty

m Canvassing

= Binding

a) 7.2 b) 14.4

Find the value of n in given series
68, 68.5,69.5, 71, n, 75.5, 785 4 g o
a)72 b)73 cawa’ '

A man rows 12 km/h in still w‘eftgnWhen river is running at 2.4 km/h, it takes 1 h
to row to a place anditocome back. How far is the place?

a)5.76 km & 9)56‘7 km c) 6.57 km d) None of these

A factarymakes custom sports car at an increasing rate, In the first month only
one s&r‘l’s made, in the second month two cars are made and so, on with n cars
made In the nth month. How many cars are produced in the first year?

a) 66 b)78 c)12 d) 72

In secret message ‘HOTEL' is coded as 300. What will be code for ‘ALTO’?
a)75 b) 160 c) 192 d) 48

Kumar drives 10 kms towards south from his house and turns left and drives
another 25 kms, again he turns left and drive 40 km straight, then turns right and
drives another 5 kms to reach the factary where he works. In which direction is
the factory from his house?

a) North-East b) North c) East d) West

The Best Coaching Institute For TNPSC, Bank, SSC, Police Exam, TET Exam, Railways Exams
@ 8939144344 16 & www.weshineacademy.com




The base of a parallelogram is 12 cm. If the area of the parallelogram is 72 sg.cm,
then the height is
a)4 b)6 c)12 d) 18

If the height of an equilateral triangle is 2v/3, then its area is

a) 2 b) V3 0243 d)4v3

The following pie chart shows the marks obtained by a student inan
examination. Who scored 750 marks in all, the subject in which the student
scores 125 marks?

® English

B Soc.Science
¥ Science

B Hindi

u Maths

a) Science : b)l-’lmtﬂ . c¢) Maths d) English

A 200 m long train crosses a man walking at a speed of 10 kmph in the opposite
dlrect'ibm in 6:sec. The speed of the train (in kmph) is
a) 139.-___ ! b) 120 )55 d) 110

The next pair of letters in the series AZ, CX, FU
a)lQ b) KP c)IR d) JP

If “‘WHILE' is coded as ‘XIJIMF’, then how will be the code 'HOTEL’?
a) JQVGN b) IPUFM ¢) KRVHO d) LETOH
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